

County Distribution Detail Report through 04/02/2019

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$40.78	\$-40.78	0.70	\$-28.55
2/2019	1,186	1,869	13	3,068	\$3,835.00	\$97.41	\$3,737.59	0.70	\$2,616.31
							Entity Tota Adjustmer Total Amo	nt:	\$2,587.76 \$0.00 \$2,587.76
Deedle									

Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$179.08	\$-179.08	0.70	\$-125.36
2/2019	4,106	10,163	153	14,422	\$18,027.50	\$379.26	\$17,648.24	0.70	\$12,353.77
							Entity To		\$12,228.41
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$12,228.41

Bennett

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$6.66	\$-6.66	0.70	\$-4.66
2/2019	944	1,044	3	1,991	\$2,488.75	\$57.81	\$2,430.94	0.70	\$1,701.66
							Entity Tota	ıl:	\$1,697.00
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,697.00
Bon Homme									

Reporting Period VOIP Surcharge Net Surcharge Entity **Entity Amount** Telecom Lines Wireless Lines **Total Lines** Admin Fee Lines Percent 1/2019 0 0 \$0.00 \$68.86 0 0 \$-68.86 0.70 \$-48.20 2,186 13 0.70 2/2019 3,790 5,989 \$7,486.25 \$151.58 \$7,334.67 \$5,134.27

							Entity Tota Adjustmer		\$5,086.07 \$0.00
							, Total Amo		\$5,086.07
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$350.98	\$-350.98	0.70	\$-245.69
2/2019	11,022	20,152	188	31,362	\$39,202.50	\$825.58	\$38,376.92	0.70	\$26,863.84
							Entity Tota	al:	\$26,618.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$26,618.15
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$475.25	\$-475.25	0.70	\$-332.68
2/2019	10,333	25,751	185	36,269	\$45,336.25	\$954.73	\$44,381.52	0.70	\$31,067.06
							Entity Tota	al:	\$30,734.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$30,734.38
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$74.73	\$-74.73	0.70	\$-52.31
2/2019	2,757	3,567	7	6,331	\$7,913.75	\$163.28	\$7,750.47	0.70	\$5,425.33

Entity Total:	\$5,373.02
Adjustment:	\$0.00
Total Amount:	\$5,373.02

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$5.40	\$-5.40	0.70	\$-3.78
2/2019	564	428	2	994	\$1,242.50	\$25.19	\$1,217.31	0.70	\$852.12

Adjustment: \$0.00

Total Amount: \$848.34

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$118.71	\$-118.71	0.70	\$-83.10
2/2019	2,344	6,235	31	8,610	\$10,762.50	\$234.22	\$10,528.28	0.70	\$7,369.80
10/2018	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
11/2018	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	l:	\$7,299.83
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,299.83
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$22.81	\$-22.81	0.70	\$-15.97
2/2019	727	1,382	7	2,116	\$2,645.00	\$52.96	\$2,592.04	0.70	\$1,814.43
							Entity Tota	l:	\$1,798.46
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,798.46

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$70.51	\$-70.51	0.70	\$-49.36
2/2019	2,804	5,147	18	7,969	\$9,961.25	\$205.19	\$9,756.06	0.70	\$6,829.24
							Entity Tota Adjustmer		\$6,779.88 \$0.00
							Total Amo	unt:	\$6,779.88

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$39.35	\$-39.35	0.70	\$-27.55
2/2019	30	2,337	0	2,367	\$2,958.75	\$62.00	\$2,896.75	0.70	\$2,027.73

Adjustment: \$0.00

Total Amount: \$2,000.18

City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$53.89	\$-53.89	0.70	\$-37.72
2/2019	1,196	2,583	405	4,184	\$5,230.00	\$143.19	\$5,086.81	0.70	\$3,560.77
							Entity Total: Adjustment:		\$3,523.05 \$0.00
							Total Amo		\$3,523.05

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$593.35	\$-593.35	0.70	\$-415.35
2/2019	4,712	23,164	701	28,577	\$35,721.25	\$760.56	\$34,960.69	0.70	\$24,472.48
							Entity Tot	al:	\$24,057.13
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$24,057.13

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$16.69	\$-16.69	0.70	\$-11.68
2/2019	2,102	2,205	12	4,319	\$5,398.75	\$111.73	\$5,287.02	0.70	\$3,700.91
							Entity Tota Adjustmer		\$3,689.23 \$0.00
							Total Amo	unt:	\$3,689.23

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$166.41	\$-166.41	0.70	\$-116.49
2/2019	1,041	7,129	648	8,818	\$11,022.50	\$241.80	\$10,780.70	0.70	\$7,546.49
							Entity Tota	al:	\$7,430.00

Adjustment: \$0.00

Total Amount: \$7,430.00

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$311.24	\$-311.24	0.70	\$-217.87
2/2019	7,834	18,287	238	26,359	\$32,948.75	\$705.87	\$32,242.88	0.70	\$22,570.02
							Entity Tota Adjustmen Total Amo	t:	\$22,352.15 \$0.00 \$22,352.15

Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$13.64	\$-13.64	0.70	\$-9.55
2/2019	1,330	609	5	1,944	\$2,430.00	\$50.01	\$2,379.99	0.70	\$1,665.99
							Entity Tota	al:	\$1,656.44
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,656.44

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$90.42	\$-90.42	0.70	\$-63.29
2/2019	3,607	5,229	38	8,874	\$11,092.50	\$247.52	\$10,844.98	0.70	\$7,591.49
							F	- (-)	¢7 500 00

Entity Total:	\$7,528.20
Adjustment:	\$0.00
Total Amount:	\$7,528.20

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$298.07	\$-298.07	0.70	\$-208.65
2/2019	5,413	13,558	117	19,088	\$23,860.00	\$497.42	\$23,362.58	0.70	\$16,353.81
							Entity Tota Adjustmer		\$16,145.16 \$0.00
							Total Amo	unt:	\$16,145.16

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$59.96	\$-59.96	0.70	\$-41.97
2/2019	2,168	3,453	8	5,629	\$7,036.25	\$142.98	\$6,893.27	0.70	\$4,825.29
							Entity Tota Adjustmen	\$4,783.32 \$0.00	
Devel							Total Amo	unt:	\$4,783.32

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$44.48	\$-44.48	0.70	\$-31.14
2/2019	1,854	2,859	9	4,722	\$5,902.50	\$125.88	\$5,776.62	0.70	\$4,043.63
							Entity Tota Adjustme		\$4,012.49 \$0.00
							Total Amo	unt:	\$4,012.49

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$27.86	\$-27.86	0.70	\$-19.50
2/2019	1,339	2,098	12	3,449	\$4,311.25	\$88.32	\$4,222.93	0.70	\$2,956.05
							Entity Tota	al:	\$2,936.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,936.55

Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$49.58	\$-49.58	0.70	\$-34.71
2/2019	1,362	2,810	17	4,189	\$5,236.25	\$105.36	\$5,130.89	0.70	\$3,591.62
							Entity Tota Adjustmer		\$3,556.91 \$0.00
							Total Amo	unt:	\$3,556.91

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$88.76	\$-88.76	0.70	\$-62.13
2/2019	3,481	4,378	21	7,880	\$9,850.00	\$202.22	\$9,647.78	0.70	\$6,753.45
							Entity Tota	ıl:	\$6,691.32
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$6,691.32
Faulk									

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$18.21	\$-18.21	0.70	\$-12.75
2/2019	859	1,404	5	2,268	\$2,835.00	\$56.80	\$2,778.20	0.70	\$1,944.74
							Entity Tota Adjustmer		\$1,931.99 \$0.00
							Total Amo	unt:	\$1,931.99

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$118.35	\$-118.35	0.70	\$-82.85
2/2019	2,316	5,158	30	7,504	\$9,380.00	\$193.08	\$9,186.92	0.70	\$6,430.84
							Entity Total:		\$6,347.99
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,347.99

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$68.53	\$-68.53	0.70	\$-47.97
2/2019	1,924	3,379	14	5,317	\$6,646.25	\$143.98	\$6,502.27	0.70	\$4,551.59
							Entity Total:		\$4,503.62
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,503.62
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

Lines

1/2019	0	0	0	0	\$0.00	\$11.51	\$-11.51	0.70	\$-8.06
2/2019	1,079	1,345	5	2,429	\$3,036.25	\$60.85	\$2,975.40	0.70	\$2,082.78
							Entity Total: Adjustment: Total Amoun		\$2,074.72 \$0.00 \$2,074.72
Llaurdin									

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$32.33	\$-32.33	0.70	\$-22.63
2/2019	1,747	3,522	9	5,278	\$6,597.50	\$132.67	\$6,464.83	0.70	\$4,525.38
							Entity Tot	al:	\$4,502.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,502.75

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$58.04	\$-58.04	0.70	\$-40.63
2/2019	1,184	2,663	13	3,860	\$4,825.00	\$105.59	\$4,719.41	0.70	\$3,303.59
							Entity Total: Adjustment:		\$3,262.96 \$0.00
							Total Amo		\$3,262.96

Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$55.86	\$-55.86	0.70	\$-39.10
2/2019	974	2,907	21	3,902	\$4,877.50	\$103.59	\$4,773.91	0.70	\$3,341.74
							Entity Tota Adjustmer		\$3,302.64 \$0.00
							Total Amo	unt:	\$3,302.64

Harding

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$11.28	\$-11.28	0.70	\$-7.90
2/2019	741	846	1	1,588	\$1,985.00	\$49.99	\$1,935.01	0.70	\$1,354.51

							Entity Total: Adjustment:		\$1,346.61 \$0.00
							- Total Amo		\$1,346.61
Hughes									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$222.93	\$-222.93	0.70	\$-156.05
2/2019	4,561	14,028	303	18,892	\$23,615.00	\$518.83	\$23,096.17	0.70	\$16,167.32
							Entity Tota	al:	\$16,011.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,011.27
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$88.71	\$-88.71	0.70	\$-62.10
2/2019	3,175	5,003	49	8,227	\$10,283.75	\$224.83	\$10,058.92	0.70	\$7,041.24
							Entity Tota	al:	\$6,979.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,979.14
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$19.88	\$-19.88	0.70	\$-13.92
2/2019	694	1,067	5	1,766	\$2,207.50	\$44.95	\$2,162.55	0.70	\$1,513.79

Entity Total:	\$1,499.87
Adjustment:	\$0.00
Total Amount:	\$1,499.87

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$11.03	\$-11.03	0.70	\$-7.72
2/2019	689	815	4	1,508	\$1,885.00	\$37.85	\$1,847.15	0.70	\$1,293.01

Adjustment: \$0.00 Total Amount: \$1,285.29

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$12.54	\$-12.54	0.70	\$-8.78
2/2019	898	1,176	5	2,079	\$2,598.75	\$53.35	\$2,545.40	0.70	\$1,781.78
							Entity Tota Adjustmer		\$1,773.00 \$0.00
							Total Amo	unt:	\$1,773.00

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$9.68	\$-9.68	0.70	\$-6.78
2/2019	578	656	3	1,237	\$1,546.25	\$31.01	\$1,515.24	0.70	\$1,060.67
							Entity Total: Adjustment:		\$1,053.89 \$0.00
							•		
							Total Amo	ount:	\$1,053.89

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$44.71	\$-44.71	0.70	\$-31.30
2/2019	1,348	3,844	52	5,244	\$6,555.00	\$134.66	\$6,420.34	0.70	\$4,494.24
							Entity Tota Adjustmer		\$4,462.94 \$0.00
							Total Amo	unt:	\$4,462.94

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$193.41	\$-193.41	0.70	\$-135.39
2/2019	2,821	8,959	95	11,875	\$14,843.75	\$312.15	\$14,531.60	0.70	\$10,172.12
							Entity Tota	al:	\$10,036.73

Adjustment:

\$0.00

Total Amount: \$10,036.73

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$342.16	\$-342.16	0.70	\$-239.51
2/2019	8,060	16,264	147	24,471	\$30,588.75	\$633.09	\$29,955.66	0.70	\$20,968.96
Lincoln							Entity Tota Adjustmer Total Amo	ıt:	\$20,729.45 \$0.00 \$20,729.45

Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$521.93	\$-521.93	0.70	\$-365.35
2/2019	4,339	22,382	1,762	28,483	\$35,603.75	\$767.75	\$34,836.00	0.70	\$24,385.20
							Entity Tot	al:	\$24,019.85
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$24,019.85

Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$22.01	\$-22.01	0.70	\$-15.41
2/2019	1,227	1,722	67	3,016	\$3,770.00	\$84.54	\$3,685.46	0.70	\$2,579.82
							Entity To	tal:	\$2,564.41

Adjustment:	\$0.00

\$2,564.41

Total Amount:

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$58.68	\$-58.68	0.70	\$-41.08
2/2019	1,801	2,762	9	4,572	\$5,715.00	\$118.19	\$5,596.81	0.70	\$3,917.77
							Entity Tota Adjustmer		\$3,876.69 \$0.00
							Total Amo	unt:	\$3,876.69

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$89.14	\$-89.14	0.70	\$-62.40
2/2019	2,370	4,165	16	6,551	\$8,188.75	\$164.77	\$8,023.98	0.70	\$5,616.79
							Entity Tota Adjustmen		\$5,554.39 \$0.00
							Total Amo		\$5,554.39
McPhorson								unt.	ψ0,004.00

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$16.51	\$-16.51	0.70	\$-11.56
2/2019	1,019	1,503	4	2,526	\$3,157.50	\$75.09	\$3,082.41	0.70	\$2,157.69
							Entity Tota Adjustme		\$2,146.13 \$0.00
							Total Amo		\$2,146.13

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$363.18	\$-363.18	0.70	\$-254.23
2/2019	3,769	16,920	254	20,943	\$26,178.75	\$557.30	\$25,621.45	0.70	\$17,935.02
9/2018	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
							Entity Tota Adjustmen		\$17,687.79 \$0.00
							Total Amo		\$17,687.79

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$9.16	\$-9.16	0.70	\$-6.41
2/2019	639	682	48	1,369	\$1,711.25	\$40.74	\$1,670.51	0.70	\$1,169.36

Entity Total:	\$1,162.95

Adjustment: \$0.00

Total Amount: \$1,162.95

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$23.56	\$-23.56	0.70	\$-16.49
2/2019	1,033	1,564	3	2,600	\$3,250.00	\$65.13	\$3,184.87	0.70	\$2,229.41
							Entity Tota	ıl:	\$2,212.92
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,212.92
Minnohaha									

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$3,479.71	\$-3,479.71	0.70	\$-2,435.80
2/2019	44,858	144,462	2,100	191,420	\$239,275.00	\$5,043.04	\$234,231.96	0.70	\$163,962.37
							Entity Tota		\$161,526.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$161,526.57

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$91.88	\$-91.88	0.70	\$-64.32
2/2019	1,501	4,497	74	6,072	\$7,590.00	\$183.29	\$7,406.71	0.70	\$5,184.70
							Entity Tota Adjustmer		\$5,120.38 \$0.00
							Total Amo	unt:	\$5,120.38

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$1,678.44	\$-1,678.44	0.70	\$-1,174.91
2/2019	26,644	75,634	1,279	103,557	\$129,446.25	\$2,738.34	\$126,707.91	0.70	\$88,695.54
							Entity Total		\$87,520.63
							Adjustment	t:	\$0.00
							Total Amou	int:	\$87,520.63
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2019	0	0	0	0	\$0.00	\$48.68	\$-48.68	0.70	\$-34.08
2/2019	1,847	2,292	6	4,145	\$5,181.25	\$113.64	\$5,067.61	0.70	\$3,547.33
							Entity Total: Adjustment:		\$3,513.25 \$0.00
Detter							Total Amoun	t:	\$3,513.25

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$37.28	\$-37.28	0.70	\$-26.10
2/2019	1,201	1,729	7	2,937	\$3,671.25	\$74.30	\$3,596.95	0.70	\$2,517.87
							Entity Tot	al:	\$2,491.77
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,491.77

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$89.71	\$-89.71	0.70	\$-62.80
2/2019	3,626	4,831	16	8,473	\$10,591.25	\$234.77	\$10,356.48	0.70	\$7,249.54
							Entity Tota Adjustmer		\$7,186.74 \$0.00
							Total Amo	unt:	\$7,186.74

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$25.31	\$-25.31	0.70	\$-17.72
2/2019	861	1,745	10	2,616	\$3,270.00	\$65.94	\$3,204.06	0.70	\$2,242.84
							Entity Tota Adjustmer		\$2,225.12 \$0.00
							Total Amo	unt:	\$2,225.12

Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$70.28	\$-70.28	0.70	\$-49.20
2/2019	2,006	4,439	19	6,464	\$8,080.00	\$166.85	\$7,913.15	0.70	\$5,539.21

							Entity Tota Adjustmer		\$5,490.01 \$0.00
							-		
01							Total Amo	unt:	\$5,490.01
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$39.13	\$-39.13	0.70	\$-27.39
2/2019	877	2,138	14	3,029	\$3,786.25	\$78.56	\$3,707.69	0.70	\$2,595.38
							Entity Tota	d:	\$2,567.99
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,567.99
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$16.21	\$-16.21	0.70	\$-11.35
2/2019	713	1,153	4	1,870	\$2,337.50	\$46.82	\$2,290.68	0.70	\$1,603.48
							Entity Tota	d:	\$1,592.13
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,592.13
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$0.13	\$-0.13	0.70	\$-0.09
2/2019	0	58	2	60	\$75.00	\$10.09	\$64.91	0.70	\$45.44
							Entity Tota	ıl:	\$45.35

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$83.88	\$-83.88	0.70	\$-58.72
2/2019	2,709	3,867	5	6,581	\$8,226.25	\$170.92	\$8,055.33	0.70	\$5,638.73

\$0.00 \$45.35

Adjustment:

Total Amount:

Adjustment: \$0.00 Total Amount: \$5,580.01

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$125.08	\$-125.08	0.70	\$-87.56
2/2019	2,320	6,070	16	8,406	\$10,507.50	\$213.06	\$10,294.44	0.70	\$7,206.11
							Entity Tota Adjustmer		\$7,118.55 \$0.00
							Total Amo	unt:	\$7,118.55

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$239.21	\$-239.21	0.70	\$-167.45
2/2019	3,134	10,822	390	14,346	\$17,932.50	\$428.18	\$17,504.32	0.70	\$12,253.02
							Entity Tota Adjustme		\$12,085.57 \$0.00
							Total Amo	ount:	\$12,085.57

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$68.88	\$-68.88	0.70	\$-48.22
2/2019	2,187	3,577	71	5,835	\$7,293.75	\$147.64	\$7,146.11	0.70	\$5,002.28
							Entity Tot		\$4,954.06
							Adjustme	nt:	\$0.00

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	0	0	0	\$0.00	\$360.60	\$-360.60	0.70	\$-252.42
2/2019	5,494	15,500	235	21,229	\$26,536.25	\$549.73	\$25,986.52	0.70	\$18,190.56
							Entity Tota	ıl:	\$17,938.14

\$4,954.06

\$0.00

Total Amount:

Adjustment:

Totals	226,265	577,800	10,023	814,088	\$ 1,017,610.00	\$ 33,753.23	\$ 983 856 77
TOLAIS	220,205	577,800	10,023	014,000	φ 1,017,010.00	₽ 33,7 <u>3</u> 3.23	\$ 903,030.77